Wednesday 18th November 2020

Maths
Below are some more word problems. Please use column method to complete the calculations, or see below it for a more challenging maths activity.
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Challenge
This is a 4 x 4 Magic Square made from the numbers 1 to 16.
[image: Magic square : 15, 10, 3, 6; 4, 5, 16, 9; 14, 11, 2, 7; 1, 8, 13, 12.]
In a Magic Square all the rows, columns and diagonals add to the same number. This number is called the 'Magic Constant'.
Here are some questions about this Magic Square.
1/What is the Magic Constant of this Magic Square?
This particular square is especially 'magic' as some 2 x 2 squares within it also add to that number.
2/How many of these squares can you find?

3/What happens to the Magic Constant if you add 2 to each number in the square?

4/What happens if you double each number?

5/Can you make a square in which the Magic Constant is 17?
 
How did you do it?

6/Can you make a square in which the Magic Constant is 38?
 
How did you do it?

7/What other numbers under 100 can you make into the Magic Constant by changing all the numbers in the square in the same way?

8/Can some be made in more than one way?
9/Are there some numbers you really cannot make?
Answers to yesterday’s questions
[image: ]
[image: ]




[bookmark: _GoBack]Art
In art we are looking at Peter Thorpe and his space art. Can you research his work at home and draw a picture influenced by some of his ideas? Look closely at his use of colour and shading.
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What number is three thousand and six more than four thousand, sx hundred and ninetyfive?
2. Subtract 6725 from 8053
3. How much smaller is 4237 than 51387
4. What number i four thousand, three hundred and forty more than five thousand and seventiysix?
5. Calculate the difference between three thousand, two hundred and twelve, and two thousand and forty six
6. Add £237110 £7846
7. What number is 5002 less than 70012
8. Increase £76.83 by £2271
9. What number is the sum of sx thousand and sixty and two thousand, four hundred and thirteen?
10. Decrease 2973 by 628
1. What s added to £45.62 to make £87.007
12. What number is four thousand, sx hundred and twelve minus nine hundred and sixiy?
13. Take £6712 from £8000
14. Tf Iincrease  number by 2097 and get 4651, what number did I start with?

15. Add together 5892 and 3015, then subtract 6719
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1 | 4695+ 3006 7701
2 | s0s3- 6725 -1328

3 | s076- 4309416

4 | 3212- 2006 1266

5 | er46+22a71-g10217
6 | 7001- s002-1999

7 | er683422271- 29954
s | 6060+ 2413- 8473

9 | 2973- 628 - 2345

10 | £67.00-£45.62- 24138
11 | 4612- 9603652

12| £8000- £6712 - 12

1

1

15

5138- 4237 =901
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Challenge

1234+ 8765= 9999

3124 + 6875 = 9999

1243 + 8756 = 9999

3142 + 6857 = 9999

1324+ 8675= 9999

3214 + 6785 = 9999

1342 + 8657 = 9999

3241 + 6758 = 9999

1423 + 8576 = 9999

3412 + 6587 = 9999

1432+ 8567 = 9999

3421 + 6578 = 9999

2134+ 7865 = 9999

4123 + 5876 = 9999

2143+ 7856 = 9999

4132 + 5867 = 9999

2314+ 7685 =9999

4213 + 5786 = 9999

2341+ 7658 = 9999

4231 + 5768 = 9999

2413+ 7586 = 9999

4312 + 5687 = 9999

2431+ 7568 = 9999

4321 + 5678 = 9999





